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QUESTION 1

During the installation of ESXi 5.5, the following error message is reported:
Hardware Virtualization is not a feature of the CPU, or is not enabled in the BIOS.
Which condition would generate this message?

A. LAHF/SAHF is not enabled in the BIOS.

B. NX/XD is not enabled in the BIOS.

C. SSE3 is not enabled in the BIOS.

D. Hyperthreading is not enabled in the BIOS.

Correct Answer: A

QUESTION 2

A virtual machine fails to migrate during a Storage DRS event. What could cause this issue?

A. Storage DRS is enabled for the datastore cluster but disabled for the virtual disks.

B. Storage DRS is enabled, but vMotion is disabled for the affected virtual machine.

C. The vMotion network used for Storage DRS is down for a host in the cluster.

D. Storage DRS is attempting to migrate the virtual machine between VMFS and NFS datastores.

Correct Answer: A

QUESTION 3

Which two conditions prevent the application of a host profile to an ESXi 5.x host? (Choose two.)
A. The host has multiple profiles attached.

B. The host has not been placed into maintenance mode.

C. The host is running virtual machines.

D. The host is an ESXi host.

Correct Answer: BC

When the host is not placed in maintenance mode and when the host is running virtual machines, you cannot apply host
profile to an ESXi host.
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QUESTION 4

An administrator uses VMware Data Recovery to make backups of virtual machines. Checking on the backup jobs that
were run the previous evening, the administrator notices that some jobs completed but that other jobs did not. What are
two possible causes for the failure? (Choose two.)

A. The deduplication store had 400GB of available space before the start of the affected jobs.

B. Eight backup jobs were running simultaneously, causing new jobs to fail to start.

C. The backup window was not open long enough to retrieve all of the changed blocks.

D. CPU utilization on the VDR appliance exceeded 90% before one or more jobs executed.

Correct Answer: BC

Reference:

http://pubs.vmware.com/vsphere50/index.jsp?topic=

%2Fcom.vmware.datarecovery.min.doc_20%2FGUID-A1A9D274-44EA-4237-A8DE- 46D01CCE673E.html

QUESTION 5

An organization\\'s datastores are configured in a fully automated Storage Distributed Resource Scheduler (SDRS)
cluster. The vSphere administrator determines that virtual machines are being migrated between datastores even
though the datastores look evenly balanced. On further investigation, the administrator determines that the datastore\\'s
utilization percentages differ by 2%.

Which Storage DRS setting should the administrator change to prevent the virtual machines from migrating
prematurely?

A. Edit the Storage DRS cluster settings to increase the percentage of the Space Utilization Difference threshold
B. Edit the Storage DRS cluster settings to increase the percentage of the 1/0 imbalance threshold

C. Edit the Storage DRS cluster settings to increase the size of the Space Utilization Difference threshold

D. Edit the Storage DRS cluster settings to increase the size of the 1/0 imbalance threshold

Correct Answer: A
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